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SOCIAL WORK
PAPER — Il

Note : This paper containseventy five (75)objective type questions bko (2) marks eachAll
guestions are compulsory.

1.  Which one of the following is distinctive claateristic of human society in comparison to
animal society ?

(1) Interaction (2) Culture
(3) Territory (4) Group life

2. Which one of the following is not included in positive transference ?
(1) Desire for friendship (2) Desire for help and support
(3) Desire for guidance (4) Desire for loosing trust

3. Whois responsible for startingunselling in social case work ?
(1) Mary Richmond (2) Bartha Reynold
(3) Hollis (4) William Reid

4.  Perception has always been
(1) Objective (2) Subjective
(3) Negative (4) Positive

5. The simultaneous existence of strong fegdi of both love andhatredness towards a
person, an object or a situation is called

(1) Indifference (2) Acceptance
(3) Ambivalence (4) Isolation

6.  Which of the following is not a strategy sdcial action as per Zeltman and Duncan ?
(1) Educational strategy (2) Economic strategy
(3) Facilitativestrategy (4) Power strategy

7. Toynbee Hall was established by
(1) Cannon Barnett (2) Gilchrist
(3) MaryWard (4) Jane Adams

8. Seﬁlement houses were

(1) Individual-basedentes (2) Group-basedentres
(3) Kinship-basedentres (4) Community-based centres
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9. National Programme of Nutritional Suppoto Primary Education (NP-NSPE) was

launched in
(1) 1985 (2) 1970
(3) 1975 (4) 1995

10. Null hypothesis, when it is true, it is called
(1) Type I error (2) Type Il error
(3) Typelll error (4) Synthesis

11. Which one of the following constitute dontiesviolence under the Protection of Women
from Domestic Violence Act, 2005 ?

(1) Economic abuse (2) Elder abuse
(3) Childabuse (4) Drug abuse

12. Name the report of the Child Welfare Officer to be submitted in case of child in need of
care and protection as per the Juvedilstice (Care and Protection) Act, 2015.

(1) First Information Report [2 Social Investigation Report
(3) Child Investigation Report (4) Family Investigation Report

13. According to the Juvenildustice (Care and ProtectioAgt, 2015 the following children
are kept in the Special Homes :

(1) Children in conflict with law (2) Neglected children
(3) Abusecchildren (4) Street children

14. Under the Industrial Disputes Adi947, Arbitrator refers to an
(1) Umpire (2) Player
(3) EnquiryOfficer (4) Employer

15. Sickness Benefit, Maternity Benefit, Disablent Benefit, Dependent’s Benefit, Medical
Benefit and Funeral Expenses are pded to an employee under which Act ?

(1) The Minimum Wages Act, 1948

(2) The Employees’ Compensation Act, 1923

(3) The Employees’ &te Insurance Act, 1948

(4) The Industrial Employment (Standing Orders) Act, 1946
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9. WAk FRIR H UIHUT YU I AL HAHH (NP-NSPE) Fa 3T g2 ?
(1) 1985 (2) 1970
(3) 1975 (4) 1995
10. 3TN RS, ATE T & A 3§ T Fecl € 2
(1) 2RI (2) <YW
(3) =2EWINIW (4) Ty
11. =Re] fEar & Afgemet # gem AfufEy, 2005 % S HErEd § d S 91 e BXe] & @
ot § ST ¢ 2
(1) i gHRR (2) g % W JHRR
(3) o=l % WY TR (4) TITER! ST HTER
12. SEFRA Shed (FEX U WERM) T, 2015 % AR a1t HoamT awry ot a=d sl geeT
3 TG ! ST & Gay | 1 RIS U7 64T €, 59 Fed &
(1) vem o Rue (TF 378 31R) (2) GRS S e
(3) I = Rae (4) URaR Si= Ui
13. SEFRA Sed (FR U W) T, 2015 % FER Fefdfiad o ¥ f&a 9ol % a=a favm
(GUIR) Tt | ¥ S & 2
(1) A S FA ae T (2) et =t
(3) THWR & NIHR a=d (4) gHq =
14. 3feifies foems sifufam, 1947 © qerey feaen gty 3ar € 2
(1) R & (2) fTaoret #
(3) it SRt (4) T
15. 3Tl fedam™, Arged e, fasmaiTar fedemy, T faem, feafeen fTaemT a1 Se-9whr
% T B U hdt HHAR & 1T o s o i fevam mar & 2
(1) —gam =BGt Afuf=m, 1948
(2) AR atfaufa stfatEw, 1923
(3) HHARI TS ST SitufEm, 1948
(4) eHifiTes YamarT (@@ e sfufEs, 1946
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16. have contributed immensely to the knowleafgecial casework, but much of this
is related to causative factors than the strategies of intervention

(1) Social Sciences (2) Behavioural Sciences
(3) PhysicalSciences (4) Earth Sciences

17. What is the function ofantrol group in a study design ?
(1) To quantify the impact of extraneous variables on tpert#ent variables.
(2) To quantify the impact of theéimulus on the independent variables.
(3) To change the independent variables.
(4) To measure the impaat independent variables.

18. is the sample act of comparisod Earning for organisational improvement.
(1) Benchmarking (2) Feedback
(3) Ranking (4) Job evaluation

19. Which one of them is not a statutory wedfgsrovision as per thendian Factories Act,

1948 ?
(1) First Aid (2) Creche
(3) Transport (4) Safety
20. Section of the Industr Disputes Act, 1947, states that employer should only
retrench employees who have been most recently hired.
Q) 24F 2) 246G
(3) 25F 4) 256G
21. For closure, every worker is to be comgpated with average pay for every year of
service completed.
(1) 15days (2) 20days
(3) 25days (4) 30days

22. A disease of the brain characterized inypairment of memory and eventually by
disturbances in reasoning, planningngaage and perception is called as

(1) Parkinson’s Disease (2) Alzheimer’s Disease
(3) Insomnia (4) Dyslexia

23.  Which one of the following form ofecording, main events are recorded ?

(1) Process recording (2) Summary recording
(3) Rolerecording (4) Narrative recording
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(3) IHm (4) & godie

19. 9RAE HREMT FUFEH, 1948 % STAR FfAiad § § HIT TH €1 Hea0HRT e Tef
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(1) vt fafeaar (2) T TE R
(3) uREEA (4) g

20. 3ieifies foarg afafem, 1947 A g Sfooiiad & o M R 39 SHEiEr Bt set
FHOT 5 g &7 § 9t fohar T e |
(1) 24T% (2) 24
(3 25T% (4) 25

21. U (FASR) & [T Ueieh IR ol Fedsh quT o B Har & felw ot 39 adq gaTas
FHETH T A E |
(1) 15fA (2) 20 %=
(3 25w 4 30f=

22. Tfeash & 59 SERE § Wi o7 g9 ordr €, SRR TR, ST, qIeT SR SE-ae
I T L §, 39 Fed &

(1) e o (2) ST I
(3) TmFET (4) fewtagan
23. Ty=fafed § @ fvg yer &t Repifer B 7T geAmt Repie ot STt § 2
(1) v feteT (2) R fEiteT
(3) A femifem (4) Rica Repiten
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24, can be defined as a written recorthefduties, responsiiiies, and conditions
of job.
(1) Job specification (2) Job profile
(3) Jobdescription (4) Job analysis
25.  Which among the following sets of Article$ Indian Constitution d& with Fundamental
Rights ?
(1) Articles 12 to 35 (2) Articles 15 to 32
(3) Articles 19to 40 (4) Articles 14 to 39
26. ‘Panchayat Raj system candbée understood in terms of
(1) Child and woman development (2) Grassroot level planning
(3) Democratidecentralization (4) Integrated rural development
27. are distinct forms of ‘Justice’ in Indian Constitution.
(1) JusticeEmpowermentWell-beng(2) Social, Economic, Political
(3) Social, Psychological, Emotionaf4) Educational, Social, Judicial
28. Which one of the following is not labelled as community ?
(1) Village (2) Neighbourhood
(3) Nation (4) A Settlement
29. H.B. Trecker said that each individualms one of the following most and worker should
be aware of this :
(1) Help (2) Support
(3) Recognition (4) Assistance
30. Which of the following is not # component of community work ?
(1) The community (2) Worker
(3) Bureaucrats (4) Individuals
31. While comparing system A with system @pceeding on the assumption that system A is
superior or the system B is inferior, this termed as :
(1) Alternative hypothesis (2) Null hypothesis
(3) Simplehypothesis (4) Composite hypothesis
32. The strength of _ as a technique of daléection is the freedom it provides in
terms of content and structure.
(1) Structured Interview (2) Unstructured Interview
(3) Rigidinterview (4) Flexible Interview
Paper-lli 8 JA-010-17
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24. I FHeAl, ITEIF 3 Qa1 31t & &9 9 R fopar s qehan & |

(1) w fafcee (2) A UEEA
(3) = foery (4) o faversor
25. R WU % o ST=981 & G9E KT (Hifeish) SR 9 Tt § 2
(1) 3TT=T 12935 (2) =T 159 32
(3) =T 19 ¥ 40 (4) STTT 149 39
26. UEE ST YOTCA BT T 0 O T ®0 H S e ST ST € 2
(1) wfeeT wa aret foer (2) SHFT &R ® HEe
(3) TArhaItI fachsioT (4) UHIFHA UHOT faH
27. qRAT A= 7 = o o ey § |
(1) =, HRRTHoT, Hemo (2) W, e, Tt

(3) I, AT, TaTeH® (4) iteTes, QHEITT, =

28. ffcifad § & fF8 s TR 1 S @ A S 2
1) W= (2) =™
@) T (4) wH

29. UEE. I A Tl o Tk e fefeiiad d @ Ueh Bl Tl ST Fedl & 31 Tedish Shidehdl i

T AHHR] EHT =T 7
(1) w=x (2) A
(3) UgE= (4) @I

30. T=fafad B @ 9 U g1 S H 3 76 € 2
(1) = (2) A
(3) Rt (4) =t

31. 9 YUTGlt A I T UUNGN B % WY T YIURUN % T Fd & fF UMt A S@aR a1 WoTett
B R &, dl 39 1 % € 2

(1) deiedeh IR (2) o UREeIT
(3) e uReheaT (4) T aRepeaT
32. 3iThel & Toho™l & AhAlh H ®T T o (G0 & 3iaeq 3 AT & fog oo arett
AT |
(1) SFad qEehR (2) STERIad WTRIHR
(3) TURE AETHR (4) THAE TR
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33. The technique of scalogram analysis was developed by
(1) Likert (2) Thurston
(3) LouisGuttmann (4) Bogardus

34. When the dependent variablenist free from the influence of extraneous variable(s), this
relationship between dependent amdependent variables is known as :
(1) Cause-effeatelationshp (2) Confounded relationship
(3) Controlledrelationship (4) Uncontrolled relationship

35. Test used for comparing a sample varianca tbeoreticapopulation variance is known

as
(1) Chi-square test (2) Z-test
(3) F-test (4) t-test

36. Which one of the following is not the assumption in Karl Pearson’s co-efficient of
correlation ?
(1) Existence of linear relationhip between the two variables.
(2) Causal relationship between two variables.
(3) Operation of large number of independesises in both varis so as to produce
normal distribution.
(4) Existence of no relationship.

37. Emotions, sensation, perceiving andel®@ing come under the category of
(1) Integrative event (2) Freudian event
(3) Objectiveevent (4) Subjective event

38. “Electra complex” isa situation found in
(1) Oral stage (2) Anal stage
(3) Phallicstage (4) Latency stage

39. Which among the following statements are true in case of sampling ?

() A sampling design is a definite pldor obtaining a sample from the sampling
frame.

(i) A list containing all elementary units or cluster of units from which the sample is
drawn is called sampling frame.

(i) Sampling distribution ighe range within which thpopulation average will lie in
accordance with the reliability spéed in the confidence level.

(iv) The mean of the sampling distributioan be taken as the mean of the universe.

Codes :
(1) (i) and (ii) only are true. (2) (i) and (iii) only are true.
(3) (iii) and (iv) only are true. 4) (), (i) and(iv) only are true.
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40. ‘Community work as the process of delivegisocial welfare services’ is conceptualized

by
(1) Arthur Durham (2) M.G. Ross
(3) Rothman (4) H.B. Trecker

41. Hypergamy is
(1) Anuloma marriage (2) Pratiloma marriage

(3) Inter-castenarriage (4) Gandharva marriage

42. Malinowski related the function of institutions to
(1) social needs (2) Dbiological needs
(3) structuraheeds (4) cultural needs

43. When married couple establish their owsidence in a ‘new’ @ice, it is called
(1) Bi-local (2) Neo-local
(3) Patri-local (4) Matri-local

44. A women faces difficulty in recorimng to multiple roles is called
(1) Role repertoire (2) Role set
(3) Roleconflict (4) Role consistency

45. Which is not a basic charadstic of “ascribed status” ?
(1) Race (2) Sex
(3) Age (4) Knowledge

46. Of the following, which does not imply membership ?
(1) Association (2) Community

(3) Institution (4) Secondary groups

47. Tolerance is a form of

(1) Adaptation (2) Accommodation
(3) Cooperation (4) Integration
Paper-Ill 12 JA-010-17
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40. ‘TS FHoAT0T HaTE TS HA St UiHAT & T | AR HE i STTERON {oha= e &l off 2
(1) iR sew (2) TwHSHIW
(3) erm (4) TwaEE I
41. TEOCHE
(1) o foar (2) vigers foare
(3) 3idsTa faare (4) Tivd foame
42. HfeIah 3 et & U H fFEd Sier ¢ 2
(1) TS Teavasharet ¥ (2) i sTEvaHATeT 9
(3) TEATHSE TATIARATS I (4) WA STavIHAT
43. 9 HIT faenfed el fhdl 72 STe 9 3191 3] 99T €, |l 39 91 Fed € 2
(1) 39T TS (2) 9 THE
(3) Tug e (4) g et
44, IS TR T 3T QTS % AN ATeTiel SaH § S ST Feqd Hdl €, 39 Fed €
(1) o Tue fo=ama (2) o T
(3) gHF % (4) fe Gafa
45. frefafed § d S vea aRfa w5 g foear @ e o
(1) &= (2) fom
@) I (4) =
46. Trfafad & 9 frad Tewar siatfed Tal & 2
(1) = (2) wEE
(3) wEr (4) s agg
47. ‘TETRNAAT UH UPR &
(1) et = (2) TS H
(3) e & (4) THIHT H
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48. Which one is an association ?

(1) Gemeinschaft (2) Folk Society
(3) Gesellschaft (4) Tribe
49. According to the following authors, which tife following is not properly matched with
respect to meaning of Social Action ?
(1) Mary Richmond — Mass betterment through propaganda and legislation
(2) Maslin — Mass attack on mass problems
(3) Baldwin — Organised effort to ahge social and economic institutions
(4) Coyle — Change of social environment
50. Match the List with List — Il and chooseetleorrect answer from the codes given below :
List — | List — II '
(Concepts) (Authors)
(@) Instinct () Maslow Fa
(b) Emotions ()  Freud il ' {
(c) Achievement (1) James ,ﬂ'r o
(d) Self-actualisation (V) McClelland’
Codes:
@ ® (@ (@
@ o Qv)
2 @ av)y @am @
@) @ @ av)y O
@ vy @ a o
51. Match List — | with List — Il and chood&e correct answer from the codes given :
List—1I List—II
(Authors) ¢ (Books)
() M.G. Ross (ﬁ\) Community Organisation — Theory and
' Practice
(I  Siddique H.Y. (B) PRA — Corept, Methodology and Techniques
(1) Britto G.A.A.  (C)  Social Work and Human Relations
(IV)  Luigi Ca?estro (D) Some Principles of Social Action in Social
. Work
Codes :
o an auy  av)
m ®w © O B
2 ® W (© O
@ © ®B @G O
4 O © B ®
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48. THiafad 9 %9 T 99§ 2
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(@) gt () ir { fs‘
(b) WA (1) WS P
(c) Sudrey (ny s / |
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(a) (b) (©) (d)
@ o am Qv
@ mam vy am
@ @ )y
@ avy Q)
51. gei-| G-Il T GAferd Y 3R KT 70 Fel § F Qe SR A
wfi-l L T=h — I
(FiE) | (T&TF)
(I). TwEST g (A) T ARSI — 2R U Jfded
;o () fofew wEaR  (B) WLART — Hiw, HASEST Us S
() FerstTe) ' (C) Gt O U e fow
(V). T Fag) (D) W iAo 3T HRTeT TR & Qv 9%
FT: |
() m @ av)
@m@ »w © O @B
@ ® W © O
® © 6 ®w O
4 ® © B O
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52. Match List — | with List — Il and chood&e correct answer from the codes given :

List — | List— 1l
(Programmes) (Focus)
()  AYUSH (A)  Skill
(1)  NACO (B) AIDS
() NITI (C) Health
(IV) PMKVY (D) Planning i
Codes :

M @ Qv
wm © ® O A
@2 @ O B (©
® ® © ® O
4@ O A (© (B

53. Match List — | with List — Il and choog&e correct answer from the codes given :

List— 1| "¢ Lidt — 1
(Averages) t? qi' (Situation where best used)
() GeometricMean =(A) Operend grouped distributions
(I Median % (B) To desgbe quantitative data
(1) Mode { .I{ (C) In averaging ratio and percentage

(IV) Harmonic Mean (D) Comparingthe values of variable with
o constant quantity of another variable

Codes :

O an am o av)
@ »n © O @B
2 © » B (O
® ® O © W
4 O ®B @& (©
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52. gei-| B G-Il T GAferd Y iR T T Fel § T Gel SR g

=t - | =t - I
(HT5HH) (BIH)
() &9 (AYUSH) (A) e
(I) =R (NACO) (B) TueH
(1) =T (NITI) (C) w@rex
(IV) dtug & &t o= (PMKVY) (D) Tas= ¢

HT
(1 an @ v
@m@ © ® O @O
@ »n O 6 ©
® ® © 6w O
@ o ® © 6

53. gl B il i R e R e e @ e

T - | oo |
( .
(3faa) (&ﬁfﬁu&iﬁﬁqﬁmmmﬁmﬁ

() e arer (AT e e S
(1)  wfeeepT “ (B) wHEHE SRSl T SR A

(1) =gtk L (@) U SR wfeTen @ e Feper |
(V) REmEE (D) W% W g e A
2 1Y qerT
B
HT

0] amn a0V
@m »w © O ®6)
@ © »w 6 O
® ® O © O
@ O 6B 6B ©
JA-010-17 17 Paper-Il|

www.examrace.com



54. Match List — | with List — Il and chood&e correct answer from the codes given :

List—1 List— Il
(Analysis (Scope)

() Skewness (A) Asymmetin the shape of a frequency
distribution

(I Correlation (B) An analysis afovariation between variables

(1) Regression (C) Measud variation of the items

(IV) Dispersion (D) To establish ¢hnature of relationship between
variables

Codes :

M an - am o av)
B @ B O (©
2 ® (A (©) (D
® © © B @A
@ O © & (B

55. Match List — | with List — Il and choogbe correct answer from the codes given :

List — | List— Il F s
(Ideologies of Economic (Ideologies-of'Social {
Development Paradigm) Development Paradigm)
()  Liberalism (A) HumarRights
(I Capitalism (B)  Post-colonialism
(1)  Social Darwinism (C) Ecologis
(IV)  Neo-Liberalism (D) MulticultuTajjém

Codes:

o an o am o av)
v B O © ®O
@2 O B (©) (B
@ A B (© O
@4 ® O (© (B

56. Match List — | (Area) with List — Il (Relateidsues) and select the correct answers from

the codes given below :

List™ | List — Il
(Area) (Related issues)
() Planning for organisations, jobga)  SelectiorTests
and people
(I Acquiring;human resources (b)  Forecasting the demand
t 1 for labour
(1) Building individual and (c) Providing feedback to
organisational performance employees
(IV) Rewarding employees (d)  Training methods
Codes:

n v
1 ® @ (@ (9
2 @ (® ( (@
@ @ @ (© (b
@ @@ @© @ @b
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54, G-I B G-Il T GAferd Y IR KT T Fel § T Gel SR I
T — | = — I
(fergetor) Eap)
(1) oo (A) U g GiaeRoT o SR T T
() wEgsy (B) T % & Te-uRe 1 U fawetsor
(1)  wfeme= (C) =&l & uRad i °1q
(IV) e (D) < o S GeeT ol Ui T AT
LA
) m @y v
@ A B (®) ()
(2) (B) (A) (®) (D)
@ (© (D) B &
4 ©® © ©®» B

55. geil-| B G-Il T GAferd Y 3R 5T T Fel § F el SR I

e — | et Al
(nferes faehma waraet ®t faamamT) (wmmmﬁﬁﬁm)
() SERE| (A) / |
(1) Yeters (B)/ STR-SufaIa
(1) T ST (C) wRfetf
(IV) Ta-3_RaR (D) WEQ;:{

%< .

0] amn a0V
@ ® O © O
@ O KA (© (B
® »n ® (© O
@ »n O © 6

56. G-I (&) B G-Il (et q2) F gaferd L i U e gl J§ ¥ 9 SR 9

e L i — |l
(&) (Wit 72)
(1) Wﬂaﬁrmaﬁaﬁw (@) = URIeT
£y E e e (b) S-S B gEHA
() i 3iF el SrEfmes gHfead FE  (C)  FHEIRE! F Freds 3
(IV) mﬁmﬁﬁaﬁmm (d)  wferetor Hfafet

%< .

0] amn a0V
1) (b (@) (d) (c)
@2 @ (b) (c) (d)
3 @ (d) (c) (b)
4 (@@ (c) @ (b)
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57. Match List — | with List — Il and chood&e correct answer from the codes given :

List — | List—1I

(Diseases) (Explanations)
() lllusion (A) Anexperence involving the apparent

perception of something not present
(I Delusion (B) Long term mental disorder
(1  Hallucination  (C) an idiosyncratic belief
(IV) Schizophrenia (D) an instae of wrong or misinterepted
perception of semsy experience

Codes:

M an o Qv)
m oG © & B
2 ® ®» (© (D
® © B O K
4 ® O B (©

58. Match the List — | with List 4l and choose the correct answer from the codes given

below :

List—1I List—qM;'

(Latin words) . (MeaniFg) .

(@) cf. ()  Namely
(b) eg. (1) . Th the work cited
(c) viz. (" Forexample
(d) op.cit. (IvV) Compare
Codes:

@ (0 (¢ ()
@ av)y @ o an
@ @O @ amn v
@  av) @
@ am avy @m

59. Identify the correct sequence of events :

1)
2)
3)
4)
Paper-Ill

Impairment, Disease, Handicap, Disability

Disability, Handicap, Disease, Impairment

Handicap, Disability, Impairment, Disease

Disease, Impairmerisability, Handicap
20
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57. G-I B G-Il T GAfed Y 3R T T Fei § T el SR I

= - | = - |l
() (=TT
(n w= (A)
() v (B) & hifeish gHReh o)
() Tawifa (C) TUH Tk w1 faward
(IV) ®Sihar (D) Uise SFNd i TTetd ST i giEeT
LA
() an an @)
@ O © ®» B
@ ® A& (© O
® © @B O ®
@ & O B (©
58. gell-| H G-Il T GHTT HT T He T TeFal T Tet I I
Tt — | S
(et vres) (o)
(@ cf. (H = ==
b) eg. (1) fom e o 3 e T |
©) viz. () SR 3 o
. ¥ :
(d) op.cit (V) ForTr B
T
(@) (b) (c) (d)
@ o am m (I
@ O am an (v
3 av) (1
@ @ avy (1

Terdl STTAReId =T o Tehe 81 o 1% ol 3THE

59. T HeIett % Tl 5T i Tea

(1) ST, T, faehariTar, sTameiar
(3) oot T, oo,
(4) AT, gEr, T|wEdT, faeRatTar

(2)
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60. Match the List — | with List 4l and choose the correct answer from the codes given
below :

List—1 List—II
(Approaches to Child Welfare) (Paradigm Shift taken place in approaches)
(@) Welfare () Inclusion and mainstreaming

(b) Institutional and Residentiglll) Participant and Partner
case

(c) Segregation and Isolation  (lll) Development
(d) Beneficiary and Recipient (IV) Non-ingtttonal and family-based alfernatives
Codes: )

@ ® © (@
@ o a o av)
2 am av)y 0 @
@ an av)y
@ a am 0 v

61. Assertion (A) : Oppositional Defiant Riorder (ODD) is a chdhood behavioural problem
characterized by constatisobedience and hostility.

Reason (R) :ODD is one of a group of behaviourdisorders which include conduct
disorder and Attention DeficHyperactive Disorder (ADHD).

Codes:

(1) (A)is correct and (R) is wrong.
(2) Both (A) and (R) are wrong.
(3) Both (A) and (R) are correct.
(4) (A)iswrong and (R) is correct.

62. Assertion (A) : Students receiving counselling shawreater increase creativity.
Reason (R) :Person giving counselling toustents has creative ideas.
Codes:
(1) Both (A) and (R) are not correct.
(2) Both (A) and (R) are correct and)(R the correctxplanation of (A).
(3) (A)is correct and (R) is incorrect.
(4) Both (A) and (R) are correct, but (R)not the correctglanation of (A).
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60. gei-| T G-Il T AT Y 3R T T Fel W G FWE

=t — | = - |l
(Torer SHeamoT arfirTe) (frat ® gam fevTeTs uRad)
(a) T (I) TEERH R GETERT § A
(b) HiEneE SR A "Een (1) AR R e R
(c) Rl AR faarsm (DMEE
(d) el SR uTeehar (V) ﬁrwrﬁwaﬁnr&arrrmrﬁﬁfag@q :

HT

(@) (b) (€) (d)
@ o am @)
2 am avy O (i1
@ o av)y (1)
@ @ a0 @)

61. AfHHAT (A) ; NUSHITA TSHEE [THR (SISl Tedaen § e arell Ush SHoeRITd T9eEl §
ST Tad S1a=T 3R I g ¢ |

& (R) ;SIS SRR fa#Ri & WE 1 UH 9T SEH SR GeH e $iR
1Y STRITT BERUed faeR IMHe & |

T4

(1) (A) g 3R (R) 7o ¢ |

(2) (AR (R) I o € |

(3) (A) R (R)SHI W T |

(4) (AT € R (R) T T |

62. ATTHYUT (A) : WHI-ITE ST DT TATHHAT H SIGT Sl [G@Tg 3at € |
& (R) : BT ol WY 37 aTet AT & I T [oar 8 € |
B
(1) (A) R (R)3H @&t T |
(2) (A) 3R (R)sHT @& € 3 (R), (A) & Tel = € |
(3) (A) W& 3 (R) eI &I ¢ |
(4) (A) 3R (R) I Tel &, g (R), (A) F el = 61 € |
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63. Assertion (A) : Social legislation is a decree issusdthe government for the removal of
certain social evils and for the provement of social conditions. .
Reason (R) :The ultimate aim of socidégislation is to bring laout social reform in the
society.
Codes:
(1) (A)is correct and (R) is not correct.
(2) (A)iswrong and (R) is correct.
(3) Both (A) and (R) are correct.
(4) Both (A) and (R) are wrong.
64. Assertion (A) : The socially excluded groups are lkéd benefit from the normal process
of economic growth.
Reason (R) :Socially excluded groups awesources of variousrds than other sections
of poor.
Codes:
(1) (A)is correct, but (R) is wrong.
(2) (A)is wrong, but (R) is correct.
(3) Both (A) and (R) are correct.
(4) Both (A) and (R) are wrong.
65. Assertion (A) : Weak civil societies are ineffectiwes a counter weight to state power.
Reason (R) :Inadequate popular participaticend governmental transparency and
accountability strengthen civil societies.
In the light of the two statementshich of the following is correct ?
(1) (A)is correct and (R) is wrong.
(2) (A)iswrong and (R) is correct.
(3) Both (A) and (R) are correct affd) is correct exg@lnation of (A).
(4) Both (A) and (R) are correct and (B)not the correctglanation for (A).
66. Assertion (A) : Social protection is emerging as g leecial development policy focusing
on social security and poverty reduction.
Reason (R) :A unified approach in response to the perceived increase in the vulnerability
of populations cannot impve social protection.
Codes:
(1) Both (A) and (R) are correct and)(R the correctxplanation for (A).
(2) Both (A) and (R) are correct, but (R)not the correctlanation of (A).
(3) (A)is correct, but (R) is wrong.
(4) (A)is wrong, but (R) is correct.
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63. ATHHAT (A) : A [TEET THR FRT IS SeN3T H FUR TAT Hiqud FEITh qarear
! T HH & felT STRY foam ST arett IrERer € |

& (R) . TS forema T i @ed TSt | Wi guR w1 € |

A

(1) (A)TE T R (R)Tel T&l & |

(2) (A) e & & 3R (R) W& € |

(3) (A) R (R)SHI W ¥ |

(4) (A) 3R (R) I T&t T&l € |

64. AfuHAT (A) : AHISE &9 Y dfad e & N Ihg H G UHAT ¥ AT B h

HATET Bl & |

a® (R) . ISR Y @ dfad G9gl % U 3 HEET @ o ° fafay geR & wanee
AL |

ETE

(1) (AT E, g (R) T T&I ¢ |

(2 (AT E, g (R) T T |

(3) (A) R (R)IAT ®EI & |

(4) (A) 3R (R) I T&t T&l & |

65. ANTHUT (A) : FHSN AN OIS TS F UK F €0 F e 8 € |
& (R) ;AT S TSN 3 WK i URGHRTT 3R STaese! AN QAT i
HIER oA € |
SRR &1 T o el B 5 0 § i Tl ¢ 2
(1) (AT (R) W =T E |
(2) (AT T T AR (R) T T |
(3) (A) 3 (R)3Hl Tt € X (R), (A) F Tel == € |
(4) (A) 3R (R) S T&l € 3R (R), (A) F T&t =& F61 & |

66. IATUHYUA (A) : QIS TR Uh WG 1T [ =i & ©9 § W @ & Sad s
GRETT SR TR SURTHT U &4 hised AT ST & |
& (R) : ST ! SEIAAT H AT Sgicil o ol Ush qHf-ad geshivr TrIfieh Teior §
GYR & AT Gl |

&<
(1) (A) 3R (R) 3T W&l & 3% (R), (A) i T&t AN T |
(2) (A) 3R (R)3HT Tt &, &g (R), (A) Pt T&l =ame =& € |
() (A)TEE g (R)TITRIE |
(4) (A)TE e, g (R)TEH T |
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67. Arrange the following stages of groupvéé®pment as enunciated by Trecker :

() Beginning (i) Development of Bond

(i)  Stronggroup (iv) Emergence of group feeling
(v) Decline in group feeling (vi) Ending

Codes :

(@) @), (v), (i), (i), (v), (vi)
2) (), (iv), (iii), (ii), (v), (vi)
3 (), (i), i), (iv), (v), (vi)
@) @), @), (i), (v), (vi), (v)

68. Arrange the following phases of field worksncial work in an order of sequence :
(i) Placemenphase
(i) Orientationphase
(i) Exploration-Assessment-ActidPhase
(iv) EvaluationPhase
Codes :
@ (), (i), (i), (v)
(2) (@), (), (i), (iv)
(3) (), (i), (iv), (i)
(4) (@), (), (iv), iii)

69. Arrange the following Mashw’s hierarchy of needs a sequential order :
() Social needs (i) Physiological needs
(i) Esteem needs (iv) Safety needs
(v) Self-actualizatiomeeds
Codes :
@) (i), (iv), (i), (i) and (v)
(2) (v, (i), (i), (iv) and (i)
(3) (i), (i), i), (iv) and (v)
4 (v), (i), (iv), (i) and (i)
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67. e [ o iR =RUT &l ST o [FaTd & STTAR ared &
(i) W
(i)  STEE W faeh ™
(i) HSTT FHE
(iv) THE W& H IUR
(v) O 9E §
(vi) SHIe
ETE
Q) (@), (iv), (i), (iii), (v), (vi)
(2) @), (iv), (i), (ii), (v), (vi)
) (), (i), (iii), (iv), (v), (vi)
4) (), (i), (i), (iv), (vi), (v)

68. IHISTH HF H hiee HE & (=ifehd TN i shAeg o § Haled F :
(i) T =T
(i) Terfa Fewor =)o
(i)  FATUT-3THO-HRETE =0T
(iv) o =TT
T
(x) @), (i), i), (iv)
(2 (i), (i), (iii), (iv)
) (), (i), (iv), (i)
(4) (i), (i), (iv), (iii)

69. T % EAThd STEvdhdT SThT I Tel hT T HHTS Y :
(i) QIS TEvahand
(i) IRIR® ATashang
(iii) THF STETIHATE
(iv) TR 3MEvashand
(v) TR STk
ETE
@ (i), (iv), (), (i) & (v)
2 (v), (i), (i), (iv) 3 i)
3) (i), (i), (i), (iv) & (v)
@) (v), (i), (iv), (iii) 3 (i)
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70. Organise the following steps int@mvention research in a sequence :
(i) Identification of objectives
(i)  Problemformulation
(i)  Selectionof single subject design
(iv) Interventionstrategies
(v) Pre-interventiomssessment
(vi) Assessment of intervention effects
(vii) Drawing of conclusions
Codes :
@ (i), @), i), (v), (v), (vi), (vii
(2) (), @), (i), (iv), (v), (vi), (vii)
(3) (i), (i), (i), (iv), (v), (vi), (vii)
(4) (i), (i), (@), (v), (v), (vi), (vii)

Read the passage given belomd aanswer the following questiongl(— 75 as per the
understanding of the passage.

Skills and knowledge are the drivingrdes of economic growth and social
development for any country. India currenfhces a severe shortage of well-trained,
skilled workers. It is estimated that ory3% of the workforce in India has undergone
formal skill training as compad to 68% in the UK, 75% in Germany, 52% in USA, 80%
in Japan and 96% in South Korea. Large sectifrice educated workforce have little or
no job skills, making them largely unemployabT herefore, India must focus on scaling
up skill training efforts to meet the demands of employers and drive economic growth.

India’s annual skilling capacity was estimated at approximately 7 million during the
period 2013-14. Apart from meeting its owmubnd, India has the potential to provide a
skilled workforce to fill the expected shalfin the ageing deveped world. India is one
of the youngest nations in the world, with m¢iman 54% of the tal population below 25
years of age and over 62% of the population in the working age group (15-59 years). The
country’s population pyramid is expected to bulge across the 15-59 age groups over the
next decade. This demographic advantegyeredicted to last only until 2040. India
therefore has a very narrow time frame Harness its demogohic dividend and to
overcome its skill shortages.

The enormity of India’s skilling challenge further aggravated by the fact that skill
training efforts cut across multiple sectoasd require the involvement of diverse
stakeholders such as : multiple governméepartments at the centre and state levels,
private training providers, educational amgining institutions,employers, industry
associations, assessment and certification bashddrainees. All thesstakeholders need
to align their work together in ordey achieve the target of ‘Skill India’.

The Ministry of Skill Development and Entrepreneurship was set up in November
2014 to drive the ‘Skill India’ agenda in‘Blission Mode’ in order to converge existing
skill training initiatives and combine scale amahlity of skilling efforts, with speed. The
Ministry, therefore, proposes to launttie National Skill Development Mission, which
will provide the overall institutional framework to rapidly implement and scale up skill
development efforts across India. The visiobjectives and design de Mission, draw
on the lessons learnt from the implemewotatof skill development efforts over the past
decade. It seeks to provide the institutioo@pacity to train a minimum of 300 million
skilled people by the year 2022.
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70. TR STEYE & FEIThd SROT P Gel v H Faferd i :
(i) BV B TEEH
(i) T AT
(iii) T TTuTH SATHT HT T
(iv) &I OHIaar
(v) EXIU-UE Mo
(vi) TR % TS T ST
(vii) TT=FY TaR e
&<
Q) (i), (), (i), (v), (iv), (vi), (vii)
2) (), (i), (i), (iv), (v), (vi), (vii)
) (i), (1), (i), (iv), (v), (vi), (vii)
(4) (i), (i), (1), (v), (iv), (vi), (vii)

et ST TeIieT Bt U 3R IS i 1 G & AR FefetEd wer (71-75)F SRS

Tt 3T o TR 3T ATHIST Toehid o Tl ShivTel 31T T WXk Miekat gidt & | | | 9Ra
T guierierd 3R HeTel BRI 1 &R HH & | Tk I & qdlash IRa § 9% 2.3% HHEIRN B &l
SR I AT T &, Salfeh foieT, ST, SR, S 31X Sfeqor shiian o = 3fisher o
68%, 75%, 52%, 80% 3R 96% & | f¥1ferd HIRT &% U 9 dach & U9 AT al B Tael HIveAd & &
Fel a1 7 % TR ¢, Sad o TSTIR o A &l o it | 37: Taremansti bt |l bl 07 e 31X fersh
Tgfig &l A 37 & ToTT IR o foTT IvTet UTTeToT TRt i S WX &4 Shisd T STedd STava® & |

T 2013-14 & SR TRA B A0 HIVAT &I AT 7 fHfera= it 78 ot | 7o @ &l
HAT W T A o AT, HRA o T T8 S & ¢ [ 98 qeId [oehrad o | FReT BRI ol 8
At T T BT IR Y Tk | TR 3T o G J9 I § F U & TGkt HeT STEET B 54%, 25
TT I FY W ¢ 3 62% T e TEE MR 6 3G THE (15-59 a9) § & | I % AR
forifire & STt <91 | 15-59 a9 GHE i G9M H 3R s &l M | 37 SR o & fa% 2040
T S Y& 1 QAFHME & | 3T: 310 SHAhIT GTe Sl Ile-T e 31X HIvTer Tarel 3Trel st IRT A
% oI YR & U 1! H GHY =1 ¢ |

IRT ! HIYCAT AT 30 a2 T R off ST 9g STl & o Hivrer ARt g es 9l 9
Heifyd & 2R 3 fafay fequrss sniaet € 54 Ty 3T T59 0 W3S THR| fovqm, el uferegor
ear & e BT U FA & (1T 37 Tt fecTeRent bt 370 St 1 GHSEA AT 20T |

‘bt fear & v & TavE die’ § 9o % AU T9e, 2014 H A 6 U S
T ! TIOAT 1 TE At A1feh caid Mid § foRme Sieer UiieTor qged s g i Hiver et
TRITET S TUTET SR YA T TS a1 ST Geh | 3T, HAer i AT T HivTe (o e
IE B B & ST AR T BV TG TEE B T SR 3 ot 9 TRt s % foe wmw
TN M USH HOT | 39 H9M &1 FHEuor, «eg 3R TR Usel 591 & Hiee fohd uad &
TShaTara= @ U el o STMYR W 49K i TE & | ST S8 99 2022 % AT 300 faferaT HIrer
AN T AT e & ToIT T &THT R T € |
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71. Why India must focus on scaling up skill training efforts ?
(@) Meeting the demands of employers
(b) Scaling up economic growth
(c) Providing a skilled workforce to ageing developed world
(d) Striving for social cohesion
Codes :
(1) (a)only (2) (a)and (b) only
(3) (&), (b) and (c) only (4) (a), (b), (c) and (d)
72. As per paragraph, which one of the followingnad stakeholder of skill training efforts ?
(1) Government departments (2) General masses
(3) Employers (4) Industry Associations
73. Why India is one of the youngenations in the world ?
(1) More than half of the population below 25 years of age.
(2) Young population have no skills.
(3) Young people in India are unemployed.
(4) Young people in India are not tolerant.
74. Which one of the following countries has xmaum workforce undergonir formal skill
training ?
(1) UK (2) Germany
(3) USA (4) South Korea
75. What efforts have been mentioned imgmaaph for boosting up ‘Skill India’ agenda ?
(@) Aligning of stakeholders
(b) Working in ‘Mission Mode’
(c) Convergingexisting skill initiatives
(d) Seeking people’s participation
Codes :
(1) (a) and (d) only (2) (a), (b) and (d) only
(3) (a), (b) and (c) only (4) (a), (b), (c) and (d)
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71. 9RA % foTT iereT WTTEToT Tl Sl SgT 1 STEvEE & 2
(@) TRt S | ol O HAT |
(b) anfers gty A aFT |
(c) TeT faehfad e ol FIET HIFTR U FHEAT |
(d) TRt dTeteet & T v e |

&<
(1) fo& (a) (2) faw (a) &R (b)
(3) fa (a), (b) 3R (c) 4) (a) (b). (c) 3R (d)

72. TET % AR T B H DI BT UTITRIOT VAT T EauRe T € 2
(1) ERY o (2) TS
(3) T (4) ST ETeA

73. R 3T % GO g1 S H F UH T § 2
(1) et | ST el 25 a9 ¥ HH g B |
(2) g 3T & UG BT HIYTA el ¢ |
(3) RA H JAT &R SRSTR ¢ |
(4) 9IRT H AT STETET FEW] T T |

74. 7= 0 9 TG U T AR BRI T SR hivTer UTTeqor uTe & 2
(1) foem (2) S
(3) MR (4) gheoT =IRET

75. ‘Tepet Sfear & Sevd il 3 M % foIq e o T S o Seod T T e 2
() TeauRen! & gE=aT
(b) ‘FaeM A H HE HEA
(c) ToRMM ST Ueell HI FASTH

(d) 9 9FER! & fow wams

T

(1) fo® (a) @R (b) (2) Tk (a), (b) & (d)

(3) &% (a). (b) %K (c) (4) (a) (b). (c) 3R (d)
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Space For Rough Work
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